2025 =S
H22| £33 OldtA

LTIEA|SAL



—

:A_l

__*O

|

2=

2=

pja!

ok

+

10

11

Nd
gl
Hr

12

Nd
el
Hr

—

0

A

13

Nd
el
Hr

O A=

19

on

A

20

21

22

O AFAAIE A

34

O AR 71 A

40

43

[ A1) AP 24

46

EREEEIRE:E






) 2025

Z]

(F

N

Al

4]
o

ofl

vl
o
3
4
<H
By
= @
vl
o
S
LN
ol %
F+ | @
o
okl
vl
o
— | &
o | &
o ~—
H |
L1
x| @
=
o
S
o
oo |
T |0
N

o

=

ol
o
S
| S
K| 2
o
0]
B2y
= oF
vl
o
o
— | S
= o
o | 2
o
O
(V)
oFl
nal
(@)
ol
<
<H
i
3 oF
ual
o
o
- QS
<1 | o
K|
al
LN
<

A2x(HF dAF) A7 dEF: =3 2o

2

.I'
17,864,757

22,364,757

]

o
) Zl_

4

4,500,000

=
=

. A

15

16,793,090

AN &

-
| LY

A1



A18 IAn & 16,793,090
A2 FHLn& 0 ¢
33 o] 0

ALZ(AEDSY D AZ) ARASY D A2 ogAe e Pk

AT AEA Y 140,363,713
AT AEAA = 140,935,380 ¢
A1d A A 119,183,440 ¢
A28 o =Y 21,751,940

ABZ(A A GFATE) theol A7ISH F5| Aul olAsly odL A
A7) eane 1 AuE A8 5 gl

(1) 1731 2,459,661 ¢

() GTEFAN(E W B ZRE Y A EFA) 7,500 9






(BHS - MR
A of| A XH=L0j| A of| AEA|
=UA @A) 22,364,757 | F=YUAHA) | 140,363,713 | T=YUAH(A") | 162,728,470
der9 17,864,757 deAr=9 17,864,757
o: R Kol ESte] 4,500,000 o:hes Kol Ee] 4,500,000
el ] 20000000 | T2 | 20,000,000
H (=1
H| /&5 XY H| /-5 5*H
~o 60,000,000 ~9 60,000,000
FEXF 60,363,713 SEAE 60,363,713
7 ERpEE 0 | 7EREE:L 0
X| =4 (B) 16,793,090 | X|Z=A|(B) 145,935,380 | X|=A|(B") | 162,728,470
OEHE SHsk= ORiE FHok=
A 13,889,091 A 13,889,091
ELESECReE-I 2,903,999 ELESECReE-I T 2,903,999
deers 0 o: Lo; Yol f-1-4 0
OEHE SHsk= ORiE FHok=
Lo 51,808,190 | _ . 1oy 51,808,190
THEARA(RRR) THEAFRI(RHR)
MNP=E(RHR) | 72,375,250 | ME=S(A) | 72,375,250
of| 5] ] 21,751,940 Of| H| H| 21,751,940
Al Al xtol
5,571,667 A\b,571,667 0
(A-B) (A'-B) (A"-B")




SUoM BEE
cHel o H )
Qe | o3| E = 2();%52'%5 2025'd4 & 4
i o 20| K12H(p) 71’80jl4kH4(B) (C=A-B)
162,728,470 132,228,470 30,500,000
Off &F 22,364,757 21,864,757 500,000
At ==9 22,364,7577 21,864,757 500,000
4 17,864,757 17,364,757 500,000
16,591,000 16,091,000 500,000
7|EtE &A= 1,273,757 1,273,757 0
& 4,500,000 4,500,000 0
4,500,000 4,500,000 0
Off &t 140,363,713 110,363,713 30,000,000
INS=RSES 140,363,713 110,363,713 30,000,000
TS 20,000,000 10,000,000 10,000,000
20,000,000 10,000,000 10,000,000
H| 7 60,000,000 40,000,000 20,000,000
60,000,000 40,000,000 20,000,000
T 60,363,713 60,363,713 0
60,363,713 60,363,713 0
INE=E 0 0 0
J|EFRIE S & 0 0 0




O Xs04t SEE
(EH] . M)
o e EhPIALY e oesuE | B2

= |22 A _:It_%qqlt}o_lu(A)ﬂ%'a"ﬁl'o—u"(B) (C=A-B)
A 162,728,470| 132,228,470| 30,500,000
Argof &t 16,793,090| 16,293,090 500,000
=E A X|GHLE)/XFGHEA| 16,793,090| 16,293,090 500,000
O2iE FHISH= LAY =2 13,889,091| 13,389,091 500,000
SSTEX|T =AY 310,000 310,000 0
THL AL 12,492,009 11,992,009 500,000
SE(EY)RTEAY 431,942 431,942 0
EAIE g S FAa & 39,140 39,140 0
CA| O]3)2 E3t X|9 T =A 116,000 116,000 0
At ALY = 500,000 500,000 0
WY 2BESNLER) 2,903,999 2,903,999 0
PIH2FH|(=A|7HE) 2,459,661 2,459,661 0
ARATE SR EME 2YUIEES 70,585 70,585 0
Sed3H|EER) 373,753 373,753 0
TS HLER) 0 0 0
KH=0f| At 145,935,380| 115,935,380 30,000,000
TE U X7 LE)/A|AUEA 145,935,380 115,935,380| 30,000,000
0|2fE FH|SH= 7HLAFY =2I(RH) 49,518,840 21,918,840| 27,600,000
SSTEX|T ZGAFR (KRR (EHX]) 49,518,840 21,918,840| 27,600,000
O|2fE FH|Sks 7HEAIRIKER) 2,289,350 2,289,350 0
SSTE X7 ZGARER) 2,289,350 2,289,350 0
MEs L2 ER) 72,375250| 62,152,250 10,223,000
SAHY R F et 63,994,600 53,994,600| 10,000,000
X|=O|X} &2 8,380,650 8,157,650 223,000
Ofle[H| (725 (XH2) 21,751,940 29,574,940| A7,823,000







20255 | 20250E 5%
xzojaonp | 7IZ0MAB) | (C=AB)
162,728,470 | 132,228,470 30,500,000
17,864,757 | 17,364,757 500,000
d+9 16,591,000 | 16,091,000 500,000
7| EtE == 1,273,757 | 1,273,757 0
4,500,000 | 4,500,000 0
el
+=9
4,500,000 | 4,500,000 0
20,000,000 | 10,000,000 10,000,000
s )
20,000,000 | 10,000,000 10,000,000
60,000,000 | 40,000,000 20,000,000
H|- 55 &Y
=
60,000,000 | 40,000,000 20,000,000
60,363,712 | 60,363,712 0
SRS
=MA Lo Z 60,363,712 | 60,363,712 0
0 0 0
g
7|EHXIE S 0 0 0




O XExt=

20251 &

= 20254 = 57
T ;go{m!;_m) 717804l 4+ (B) (C=A-B)
3 162,728,470 132,228,470 30,500,000
BUAY | oA e oo e
A 13,889,091 13,389,091 500,000
ZIFYR|T ZHAY 310,000 310,000 0
T eAL 12,492,009 11,992,009 500,000
02 S
THSl= | IEEDATEAY 431,942 431,942 0
ALY
AlA2E of gl
e 39,140 39,140 0
Al OlBHE ESt ez}
= s sy M 116,000 116,000 0
eV 500,000 500,000 0
A 2,903,999 2,903,999 0
oz 2| 2,459,661 2,459,661 0
BI2ILS [ xainiz =2y
e oo 70,585 70,585 0
TS PH|oiLES) 373753 373,753 0
A 0 0 0
IS
JEtE YRS 0 0 0
S 2 49,518,840 21,918,840 27,600,000
IHEALY ST X
AR | AN alE ) 49,518,840 21,918,840 27,600,000
e A 2,289,350 2,289,350 0
TH|5h= DIxEd x|
WA () 2T ol ) 2,289,350 2,289,350 0
A 72,375,250 62,152,250 10,223,000
WSS | BAK LSRR 63,994,600 53,994,600 10,000,000
x| 20| xF 22| (x}H2) 8,380,650 8,157,650 223,000
A 21,751,940 29574940  A7,823,000
Of| B |
of ]| 21,751,940 29,574,940 A7,823,000
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oAt 2 - M22] F=71E878
(CHel - H)
i 5 20254 = 20254 & I
22| =74 71’8 off &kt A,
o N -] O £HH (A) (B) (C=AB)
A 162,728,470 132,228,470 30,500,000
600 AtRis=<] 22,364,757 21,864,757 500,000
610 ¥+ 17,864,757 17,364,757 500,000
623 CHAALR =2 16,591,000 16,091,000 500,000
01 AF =9 16,591,000 16,091,000 500,000
661 7|EtE &=+ 1,273,757 1,273,757 0
03 7Bt g 1,273,757 1,273,757 0
670 QL2 4,500,000 4,500,000 0
671 O|At+=¢ 4,500,000 4,500,000 0
01 O &0|Xp==¢] 4,500,000 4,500,000 0
679 7|EtE Y Ll+< 0 0 0
09 7|EtH e+ 0 0 0
100 &2 140,363,713 110,363,713 30,000,000
140 F&fM+¢ 20,000,000 10,000,000 10,000,000
142 EH|1 XA a4+ 20,000,000 10,000,000 10,000,000
05 =872 P KiE 20,000,000 10,000,000 10,000,000
150 H|FSF i+ 60,000,000 40,000,000 20,000,000
154 SAL-S T 60,000,000 40,000,000 20,000,000
01 SAHSCHY 60,000,000 40,000,000 20,000,000
180 FEXIF 60,363,713 60,363,713 0
181 =AM AL ol= 60,363,713 60,363,713 0
01 =MALol= 60,363,713 60,363,713 0
190 7|EtR2H ¢ 0 0 0
191 7|EtRI 28 =Y 0 0 0
09 7|EfXtEH ¢ 0 0 0
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O X SFEIAM
SIAME : 2025H =
Ol A2 K23 FIHEH

TOF | M | THl | M5

20259 =

=7}
TE ee e e ae | T = daag | qudg | CAB
A 162,728,470 132,228,470 30,500,000
Ao Ak 16,793,090 16,293,090 500,000
TE S XYHLR)/RIGHEA| 16,793,090 16,293,090 500,000
0[2E FH[SH= 7HEAY 13,889,091 13,389,091 500,000
SSTFEX|T ALY 310,000 310,000 0
DPHAPEX] T ALK 310,000 310,000 0
201 YRR G| 10,000 10,000 0
03 &ARZAH| 10,000 10,000 0
706 7|EHLHEAHzY 300,000 300,000 0
12 EHX|ONE-R7t 300,000 300,000 0
SaEd) AT A 431,942 431,942 0
IEXMERERR 85T ATE A 431,942 431,942 0
201 YERRIH| 431,942 431,942 0
01 AtREh2[H| 14,642 14,642 0
1M Xaxsz 415,000 415,000 0
14 Z|QH]| 2,300 2,300 0
INFE S S SR il oS - 39,140 39,140 0
sleER 32N 29 0 0 0
201 YERRIH| 0 0 0
03 HALRGEH| 0 0 0
Al EHY EE EHA AT 9,140 9,140 0
201 YHHR G| 9,140 9,140 0
01 AFREIZ|H| 4,680 4,680 0
13 Yxt= 3,960 3,960 0
21 S32ZHMA 500 500 0
207  ATIHEH| 0 0 0
01 S8YH| 0 0 0
A apE A AR 29 0 0 0
201 YRR | 0 0 0
03 AARZAH| 0 0 0
M MoJLE 24| 30,000 30,000 0
| 201 LEHRGH| 22,000 22,000 0
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SIAME : 2025H =
Ol A2 K23 FIHEH

. =OF | MM [ =] | M - e 2035:_”5 2025;-;5 =7
T |22 (e e g | T 1= aaog) | ordg | (CAB
03 EARRZH| 22,000 22,000 0
301 YetEda 8,000 8,000 0
| 09 sARHIXIZ 8,000 8,000 0
ZA| OBHE S3 XY S = 116,000 116,000 0
X|9Atz| 082 SAHZA 100,000 100,000 0
201 LEtREH| 100,000 100,000 0
01 AMFEE[H| 0 0 0
11 X8 100,000 100,000 0
QX S 7RiE et 10,000 10,000 0
201 UEHREH| 10,000 10,000 0
01 AtR2[H| 8,000 8,000 0
03 WAL GEH] 2,000 2,000 0
YHARLATR 2H 6,000 6,000 0
201 et EH| 6,000 6,000 0
| 03 sAr2g| 6,000 6,000 0
AAY "= 500,000 500,000 0
ook T ALY 500,000 500,000 0
207 AN 500,000 500,000 0
| o1 @78 500,000 500,000 0
LTHH AL (AN LA 12,492,009 11,992,009 500,000
AOts SYFAE HESAHAIRZHLA) 4,405,050 4,405,050 0
201 YHtREH| 211,050 211,050 0
01 AMFE[H] 6,000 6,000 0
11 XEFFE 205,050 205,050 0
401  A|EH|ECHH| 4,194,000 4,194,000 0
| 01 Al&H]| 4,194,000 4,194,000 0
DHRAHEERR SUFRRE HESAARPHLR) 500,000 0 500,000
201 YEH2EH 17,680 0 17,680
| 1 xEHHE 17,680 0 17,680
401  A|&H|LECHH| 482,320 0 482,320
| 01  AlgH| 482,320 0 482,320
2 MM S AZAIZA 7 L A) 6,392,000 6,392,000 0
201 YEH2GEH| 452,000 452,000 0
01 AtRE2[H| 6,000 6,000 0
11 Xg=sT8 446,000 446,000 0
401 A|[dH| RO 5,940,000 5,940,000 0
| 01 AlgH| 5,940,000 5,940,000 0
K AHEHERR SRIA[RIMIE AR IRIZHLEA) 1,194,959 1,194,959 0
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O X SFEIAM
SIAME : 2025H =
Ol A2 K23 FIHEH

TZOF | Ex | Tkl [ MR 20259 = 2025 =
T 5 NS 22|74 71

FE2 | A [ AR | AFA |M°H(A) 0f| Arl (B)

201 YHtREH| 211,138 211,138 0

1M1 Xasss 211,138 211,138 0

401 A|GH|ECHH| 983,811 983,811 0

01 AldH| 983,811 983,811 0

W 2IEFOHLEED) 2,903,999 2,903,999 0

QIR PH|(ZAI7HL 2,459,661 2,459,661 0

o1 RIHLES 2,459,661 2,459,661 0

101 QI7H]| 1,804,451 1,804,451 0

01 B 1,792,451 1,792,451 0

04 7IXtHZEXISES 12,000 12,000 0

107 E&= 173,601 173,601 0

03 EXZ0 173,601 173,601 0

109 HiEdiEs 266,513 266,513 0

01 YERIEIIES 266,513 266,513 0

34 ¢IEREHES 215,096 215,096 0

01 dafEa 74,816 74,816 0

02 FUHZEHHEHIS 140,280 140,280 0

NS E22MAE 2FONLER) 70,585 70,585 0

g2 BYOHLED 70,585 70,585 0

201 YEtREH| 70,585 70,585 0

01 S2|2/4H| 4,400 4,400 0

15 =[] 65,460 65,460 0

21 SSaaXHAM 725 725 0

SEEHIILEER) 373,753 373,753 0

SSEH|(ZAHE) 359,197 359,197 0

201 YEtREH| 303,833 303,833 0

01  ARRte2[H| 13,960 13,960 0

11 XgesE 718 718 0

12 nISH| 16,375 16,375 0

13 A= 261,680 261,680 0

14 3|oJH| 4,000 4,000 0

21 3323 UHAM 2,600 2,600 0

22 KpZhMet| 4,500 4,500 0

202 OfH| 39,944 39,944 0
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O XESEEAM
SIAME : 2025H =
Ol A2 K23 FIHEH

TOF | A | TH| [ M1 20253 = 20253 =
T we | aret | atel | Ared 5 NS oﬁﬂﬁ%‘ Z}Iﬁ

T 4] 2] 4 R (A) oi] £kl (B)

01 =L{OfH]| 19,944 19,944 0

03 =2/YF0oH| 20,000 20,000 0

203 FEFTH| 7,500 7,500 0

07 ArEERFTIH| 7,500 7,500 0

206 Xi=H| 720 720 0

01 YEH=H| 720 720 0

214 MR DA 2,100 2,100 0

| 05 g 2,100 2100 0

217 MR 5,100 5,100 0

IR 5,100 5,100 0

SaaH|(D[2HTEh 14,556 14,556 0

201 e 9,180 9,180 0

01 ARFatE[H| 2,400 2,400 0

1M1 XgFs8E 60 60 0

12 DA 3,120 3,120 0

13 Yk= 3,600 3,600 0

202 OfH]| 3,456 3,456 0

01  =LHOH| 3,456 3,456 0

206 X{=H| 720 720 0

| o1 eijz 720 720 0

217 M YRH| 1,200 1,200 0

| 02 =na2y 1,200 1,200 0
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ANEFEZAM

SIAME : 2025H =

oAt 2 - M22] F=71E878
(Bt E%)
= cC}o = L= L=

T [ MeE | Me | Ma T (A) ofl 224 (B)
R T 145,935,380 115,935,380 30,000,000
TE S XANER/AFHEA| 145,935,380 115,935,380 30,000,000
O|2HE FH[SH= 7HLAIY FT(XHD) 49,518,840 21,918,840 27,600,000
SSTHR|T DA RER)(R4X]) 49,518,840 21,918,840 27,600,000
DFEOPEX| T ZA AL (RHR)(EHR]) 49,518,840 21,918,840 27,600,000
401 A|GH|SECHY| 49,518,840 21,918,840 27,600,000
01 AlAdH| 48,804,300 21,204,300 27,600,000
03 A|ZSCHH| 714,540 714,540 0
LERSIE flot Yotn N2 2R YR 0 0 0
AN AFRA 2HE THM(E7|FHIE) 0 0 0
405  RpatFSH| 0 0 0
01 XRMEIEEFSH] 0 0 0
O]2HE FH|SH= THLARY(RHR) 2,289,350 2,289,350 0
SETFEX|T ZEA(RHR) 2,289,350 2,289,350 0
WX SSFEKX|F FX|=Y AFH(RER) 1,003,150 1,003,150 0
401  A|ZH|SECHH| 1,003,150 1,003,150 0
01 AlAdH| 1,000,000 1,000,000 0
03 A|MECHH| 3,150 3,150 0
IEXF 2 STAE ZEARERD) 1,086,200 1,086,200 0
401 A|[-2H| SO 1,086,200 1,086,200 0
01 AldH| 1,067,000 1,067,000 0
03 A[MdECHH| 19,200 19,200 0
ér%gﬂl? SSTHX|T SSFE AHA 200,000 200,000 0
401  A|GH|SECHH| 200,000 200,000 0
01 AldH| 200,000 200,000 0
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O X&ES
SIANE : 2025HE

RN

oAt 2 - M22] F=71E878
oHe s © )
o =0k | BH | Tl [ MR - e 220_<§|5’|<'_j745 2°§|5;'E:'E =7
TR AR | At | ARY ofslHa) | ofrlip) | (C=AB)
NE2SONLER)(*HD) 72,375,250 62,152,250 10,223,000
SAH & E At 63,994,600 53,994,600 10,000,000
SALS TR AFHE 63,994,600 53,994,600 10,000,000
601 XU AT 63,994,600 53,994,600 10,000,000
02 SEEE/ENESES|  s0000000f  10000000) 10000000
05 ZIE=RUAIZ e 1,250,000 1,250,000 0
11 SARSHEFAE 42,744,600 42,744,600 0
X|Z0Ix} 2| 8,380,650 8,157,650 223,000
SAY O[XH|& 5,155,650 4,932,650 223,000
311 XHSO0[Rpafet 5,155,650 4,932,650 223,000
11 SALSTHHO[Rbebet 5,046,650 4,846,650 200,000
12 7| xS A 109,000 86,000 23,000
XS OIXH|E 3,225,000 3,225,000 0
311 XtISO0|Rpadet 3,225,000 3,225,000 0
02 e iEAESoR 225,000 225,000 0
03 SLERALSOIRtyE 1,500,000 1,500,000 0
05 7|EtXIAFO|Rfedet 1,500,000 1,500,000 0
OjlH[H| (P25 (RH2) 21,751,940 29,574,940 7,823,000
OlH[H| (P25 (R H2) 21,751,940 29,574,940 7,823,000
Of[H[H| (725 (R H=2) 21,751,940 29,574,940 7,823,000
801 OflH|H] 21,751,940 29,574,940 7,823,000
01  RHofH[H| 21,751,940 29,574,940 7,823,000
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O T=Yof| LA
(EH] - &)
2 -'129375:1'('?"%}0" 7?]9:%311_"150“ =4
23] M M
] @& | e | €=AB
A 162,728,470 | 132,228,470 | 30,500,000
600 At < 22,364,757 21,864,757 500,000
610 G+ 17,864,757 17,364,757 500,000
623 CHHALE =< 16,591,000 16,091,000 500,000
01 A=< 16,591,000 16,091,000 500,000
MM LA S2 HAESAL
11,891,000,000& x 141 = 11,891,000
EAFA =AY dLdSA
4,200,000,000€ x 141 = 4,200,000
IHEXAMHEELR SFFAY HASAL
Z74(500,000,000& x 1AN)-7|7H(0&) = 500,000
661 7|EfY < 1,273,757 1,273,757
03 7|Et+=+E2¢ 1,273,757 1,273,757
O M2AUAHS2 HECiH++==2
445,991,340 x 1Al = 445991
O SSUXAMEH A fEds5
211,137,6008 x 14| = 211,138
O 28HEA /EtidsT=
205,049,970 x 14! = 205,050
O 3==Y) ez
411,577,6509 x 1A = 411,577
670 Y42 4,500,000 4,500,000 0
671 O|Xt=< 4,500,000 4,500,000 0
01 O|=ZO|Xt+=¢ 4,500,000 4,500,000 0
O O|Z0|x} +=¢
1,500,000,000® x 3% = 4,500,000
100 At ¢ 140,363,713 | 110,363,713 | 30,000,000
140 RsE+¢ 20,000,000 10,000,000 | 10,000,000
142 SRt 2+ 20,000,000 10,000,000 | 10,000,000
05 287|2 H7| XS 20,000,000 10,000,000 | 10,000,000
O 87|28 B X3
Z420000000000% 14)-7 7100000000008k 14) - = 10000000
150 HfsE - 60,000,000 40,000,000 | 20,000,000
154 SALSEH ¢ 60,000,000 40,000,000 | 20,000,000
01 SAHSEHAY 60,000,000 40,000,000 | 20,000,000
O SAHY-(SH7[XH YY) 2 =2
ZH60000000000%k149-7 FH40000000000214) = 20000000
180 K EAt= 60,363,713 60,363,713 0
181 =AA YN 60,363,713 60,363,713 0
01 =MAYZ 60,363,713 60,363,713 0

O =MA o=z

60,363,712,031&x 14| = 60,363,713
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[ AEA=IA ]

0T = : AMR0M  @EOFE : ZE A X[F/WLR) KD A|
HAALA - O|2HE FH|Sh= 7HGAIR 2 @THRIALY | SSFEIX|T ZEAIY
OAFALY  MHIFEAIT ZEAREIR) o= : L2 AH| (€t - 1)
L5
TEEONEE HMAYTANY MEANY x"%%il%% A X% B2
g A 147,730,144 | 117,730,144 30,000,000
Ario]| At 4,084,114 4,084,114 0
TE S XANEER/RGHEA| 4,084,114 4,084,114 0
0|2 E FH[SH= 7HLANY =2 1,241,942 1,241,942 0
SSTHX|T ZEAY 310,000 310,000 0
DPHAPEX] T G AL (X)) 310,000 310,000 0
201 YRR 10,000 10,000 0
03 AR 10,000 10,000 0
[ AFRAEA )
[ =] 10,000
OZAINY Hef = 5,000,000 x 23| = 10,000
706 7|EHLHS 7Y 300,000 300,000 0
12 EAX|OHERTt 300,000 300,000 0
[ AFRAEAN )
[ =] 300,000
OF&X|E 2 TA|z2| A= 3 ZAFEA YA ISH])
300,000,0002x14] = 300,000
Sa(=Y) ATE A 431,942 431,942 0
WEXMERERR X155 & A 431,942 431,942 0
201 2Ht2AH]| 431,942 431,942 0
01  ARRZEH| 14,642 14,642 0
[ AFRAEAN ]
[ Ex] 14,642
O%7I9l&z| =4 350,000%x229! = 7,700
OHEENZHEA)E 6,942,000 x14] = 6,942
11 KassR 415,000 415,000 0
[ AIREA=IA ]
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